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I'TS323 — Data Transmission Notes
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Figure 1: Example of digital data as digital signal 1; Lecture 02
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Figure 2: Example of digital data as digital signal 2; Lecture 02
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Figure 3: Example of digital data as analog signal 1; Lecture 02
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Figure 4: Digital Data as Analog Signal 2a; Lecture 03
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Figure 5: Digital Data as Analog Signal 2b; Lecture 03
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Figure 6: Digital Data as Analog Signal 3; Lecture 03
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Figure 7: Digital Data as Analog Signal 4; Lecture 03
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Figure 8: Signal 2 composed of Sine 1a and 1b; Lecture 03
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Figure 9: Signal 1a in Time and Frequency Domain; Lecture 04
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Figure 10: Signal 2 in Time and Frequency Domain; Lecture 04
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Figure 11: Signal 3 in Time and Frequency Domain; Lecture 04
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Figure 12: Signal 4 in Time Domain; Lecture 04
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Figure 13: Example of Practical Signal Bandwidth; Lecture 04

BL)= 2000t , £:1000Hz | T= s DR= 200))5
Bl)= H000Hz , = 2606tz , T=0.5ms , DR= 4000 b5
Blo= 3000z , =400y , T=0-28ms, OR=3060 b5

)= n{mft) +sin|Im3re)

signal strength [volts]

time [seconds]

Figure 14: Tradeoff between Bandwidth and Data Rate; Lecture 05
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Figure 15: Tradeoff between Bandwidth and Errors; Lecture 05
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Figure 16: Tradeoff between Levels and Errors; Lecture 05
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Figure 17: Nyquist Capacity Example; Lecture 05

1l

1

\

Data Transmission 381 August 2015 10



Sirindhorn International Institute of Technology

ITS523

B= Mt
5 SIR= 251

Sheenion

C= Bloé HS)W)

lxlOX'oj (14251)

=8 Mbjs
N% vigt

C- 28 A

gx0° = 9y Iggjx luj} ")
log;('“)

= |4

Figure 18: Shannon Capacity Example; Lecture 05
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